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Winter Multiplication

Solve the following word problems.

During the winter break, a ski resort rents out 123
pairs of skis each day. If the resort is open for 45
days, how many pairs of skis does it rent out in
total?

A winter fair sells 234 cups of hot chocolate each
day for 12 days. How many cups of hot chocolate
are sold in total?

A festival sold 320 tickets for a winter concert, with
each ticket priced at $15. How much money did
they make from ticket sales?

A school arranged 185 rows of 14 snowflakes each
for decoration. How many snowflakes were used in
total?

A ski resort has 167 ski instructors. Each instructor
gives 24 lessons during the winter season. How
many lessons are given in total?

A company produced 35 sleds, and each sled
required 195 bolts. How many bolts were used for
all the sleds?

A winter sports store sells 432 snowboards each
month for 12 months. How many snowboards does
the store sell in total?

A store packed 205 sets of winter gear, with each
set including 14 items. How many items were
#~ packed in total?
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